D 3x2+3xy+y> @ 3x2+6xy+y2 @ 9x? 4 3xy +y?

@D)Qx2 +6xy+y> @ 9x2 + 9xy + 2

(Bx+y)? = (3x)2 +2x3xxy+y?
= 9x2 + 6xy + y?




(_3x—6y)2 2 AN ax? + bxy + cy? o|th. o|W], A a , b, ¢
a+b+c 2?2

® 1 @3 ® 5 @7 @)

(3x)2=2x3xx6y+(=6y)? = 9x%—36xy+36y? |2 a+b+c =
9+ (-36)+36=9




1 )
(5a - —b) <5a + §b) E A75H?
O 5a® - %lﬂ @ 5a® - §b2
@ 2502 — ;;;2 ®)25a2 - %bz

1
® 10a® - §b2




& % 502 - 45 9] 457} obd AL

® 5 @ a+3

@ a®>-9 @5612




& 3 64a® - 16a + 1 9] 15 ALY

© da-1 @ 8-a ® 1-8a

@8"_1 ® 4a+1

64a% - 16a +1 = (8a —1)2




22 =24 ]=(x-[)?

® 3 @ 4 ® 5

@ 2

(x—1)2

‘ X2 -2x+1




7. x*-7x-8 & JASE3|SIA?

O @+1)E+8) @ (x-1)x-8) @r+1)(x-8)
@ (x—1)(x+38) ® (x—2)(x—4)

‘ ¥ -Tx-8=(x+1)(x-28)
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D 2x+1 @ 3x+5
® 5x+ 10 @6x+6

® 6x+ 20

~

-

~

-8

-

2x2 +5x+2=(2x+1)(x +2)

wetA] S8 9] 2ol 2((2x + 1) + (x4 2)} = 6x + 6 ©]T}.




9.

(x=2)(x+3) —4(x+3) S x JAF7H1L A F LAY Ho=
QR ol u, 5 A4l ghe?
@9 @ 2x+3 ® x+3
@)2x -3 ® 2(x-3)
(x=2)(x+3)-4(x+3)=(x+3)(x-2-4)
=(x+3)(x—-6)
o (x+3)+(x-6)=2x-3
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10. 1502 -149%2 = 150 + 149 & A¥st=d =Q
A=H?

® a* +2ab + b = (a + b)?
@ a*-2ab+ b* = (a-b)?
@)a?-1? = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)

1502 — 1492 = (150 + 149)(150 — 149) = 150 + 149
wehA o] 8H T2 a2 - b? = (a+b)(a-b)




11, @r+4)(x+3) — (x=5)(x+ 1) = 7103 542 of, x o] Ao}

D 11 @ 21 3®)31 @ 41 ® 51

(+=41) =(2x% + 10x + 12) — (x? —4x - 5)
=222+ 10x+ 12— x> +4x+5
= x2 4 14x + 17

oA x O] Aot o] 2 14417 = 31 o] "ok




12, o4 -81 + 2 AEslista?

8l+x*=x*-81=x*-92=(x+9)(x-9)




13. =T 22 —x-15 9 545 BF A= (AH 271)

(@)2x+5 @x—3 ® x+3

@ 2x-5 ® 2x+3

2x% - x =15 = (2x+ 5)(x - 3)




14. 9= A4 T A de2ait A2?

@D x2+2xy +y? = (—x +y)?

@ ax—bx—a+b=(a-b)(x+1)
@) +x-6=(x-2)(x+3)

@ 6x2—x-1=(2x+1)(3x-1)
® 22 +2=(x- V2)(x+ V2)




® x2-6x+9

3x2 +10x+3 = (3x+ 1)(x + 3)
@® (3x-1)y

@9(x+1)(x-1)

® (x-3)2

@ (x+4)(x-3)

® (3x+1)(2x-1)




16.

8 = 10v+m o G 957} 3x -4 & v, THE @ Q159

© x-1 2)x-2 ® 2x-1
@ 3x-2 ® 2x-3

B

3x2—10x+m = (3x—4)(x +k)
=3x2 + (Bk—4)x — 4k
3k—4=-10 A k= -2
—4k=mO|EE m=28
3x2—10x +8 = (3x—4)(x - 2)
wrebA] oHE Ql4= x— 2 ot




17.

X
[e]
'C?

=8
o =

o
e 7

+2)(x+4)(x+6) +16 = afish= Iolet. ()<t
|

=
=

x(x+2)(x+4)(x+6) + 16
=x(®) x (x +2)(@) + 16

= (x +6x)(®) + 16

(@) =A st

A2 +8A +16 = (A+4)* = (©)?

DO x+5 @ x+3
@x2+6x ® x2+6x+1

® x?4+4x+38

z

B

D x+6
@ x+4
® x> +6x+38
® x%> +6x+4




18. the o] AAZkgel A A Ae B R0 HolS ek A2 A9

© 2 @ 4 3)6 @ 8 ® 10

watA] xy o] A%k 6ol




@ @-6)(a-5) ® (a+6)(a-5)

a-3=A=% *gsIHA
A2-5A+6=(A-3)(A-2)
=(a—6)(a-5)
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20. ot & Ae?

oo
Tlo
tlo
ru

= Rt

@® ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)2+a)

@ -y +2x+2y=(x-y)(x—y+2)
@)+ 2 +x+1= (2 +1)(x+1)
@xty-1)-20-1) = (x-2)(y-1)




